% FURUNO
PACKING LIST FOR NAVPILOT 300

Box 1 - FAP-3012

Ok wWN -

—
o © N

11
12

13
14
15
16

17

18
19

20
21
22

Part No.

FAP3012
000-157-479-10
000-158-850-10
IME-728-40Z2
OME-728-40Z
MLG-728-40Z

FAP-3011

100-394-750-10
000-167-453-10
000-167-404-10
000-167-826-10
000-167-804-10

001-353-100-00
100-398-311-10
000-190-275-10
000-167-453-10

000-194-061-10

C72--16-04A
C72-016-02A

GC-001
000-194-027-10
C72-016-03A

Wt: 9 Ibs Dim: 21.5" x 12.5" x 6.5"

Description

Processor Unit

Fuse FGMB 2A

Self Tapping Screw M4 x 20
Installation Manual
Operator's Manual
Operator's Guide

Control Unit w/gray cover
Mounting Sponge

Flat Washer M3

Spring Washer M3

Wing Nut M3

Threaded Rod M3

Front Mount Assembly
Snap Pin

Flat Head Tapping Screw
Flat Washer

NMEA2000 Micro Cable 6M

Control Unit Installation Instructions
Control Unit Mounting Template

Gesture Controller
AAA Bateries
Gesture Controller User Guide

Page 1 of 1

Quantity
1

_ aa DN DN

NNNN - -

N RN

—_

For Internal Use Only

Serial No. 1000-7310-

Checked By:
Tech
Date
FAP3012
Yes Remarks

sub SP64-01701

sub SP64-02501

FAP-3011

sub CP26-02001

sub CP26-02001

sub CP26-02001

sub CP26-02001

sub CP26-02001

sub CP64-03401

sub CP64-03401

sub CP64-03401

sub CP64-03401

000-033-745-00

sub FP64-01501




